	01
	int sqr( int x ) { return x * x; }

printf("%d\n", sqr(1.8));
	

	02
	int f( int a, int b ) { return a / b; }

printf("%c\n", f('a', 3));
	

	03
	const int M = (int)1e6;

int cnt = 0;

for (int i = 1; i < M; i++)

  for (int j = 0; j < M; j += i)

    cnt++;

printf("%d\n", cnt < (int)1e8);
	

	04
	int x = 0;

a:

if (x++ > 10)

  goto end;

goto a;

end:

printf("%d\n", x);
	

	05
	int x = 0;

unsigned y = 0;

while (x == y)

  x++, y++;
	

	06
	if ((unsigned)(-1) == (int)(-1))

  puts("Botva!");
	

	07
	int x = 0, y = 0;

while (x < 100){

  while (y < x * x && y < 1000)

    y++;

  x++;

}

printf("%d\n", y);
	

	08


	char s[100];
int a;
sprintf(s, "2 3.4");

sscanf(s + 1, "%d", &a);

printf("%d\n", a);

sscanf(s + 3, "%d", &a);

printf("%d\n", a);
	

	09
	vector <int> a(100, 30);

a.insert(a.begin(), vector <int>(100, 239));

printf("%d %d %d %d\n", a[0], a[99], a[100], a[199]);
	

	10


	string s = "abc";

s = (s + s + s).substr(1);
printf(“%s”, s.c_str());
	


